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Ol AHE 2t Al 54,954,780 60,286,599 25,331,819

AEHE 2L 18,804,796 23,481,579 A4,676,783

st HE X 18,804,796 23,481,579 A4,676,783

A8ME2Y =4 185,796 156,579 AT83

201 B3| 68,739 68,739 0

01 AtE222/Hl 68,739 68,739 0
OMEBIAHE, SSXAAMN & R 38,739
Ouldg e E2X =4I 30,000

202 O4Hl 10,000 10,000 0

01 =LA b 10,000 10,000 0
OXNEME2E AHFA 10,000

203 HRF&HI 20,000 20,000 0

03 AZFXHRFAH| 20,000 20,000 0
OAFMELY A2%F 20,000

207 Ao 36,000 40,000 24,000

01 HESHI 36,000 40,000 24,000
OXNg3J/d MEEHI 59 36,000

403 AtXISHMSK=01™ 21,057 17,840 3,217

02 S| 2SO0l CHSHCH et At S HI 21,057 17,840 3,217
ONYMEZTZAAE RXE+ 21,057

ANZHE XA 17,829,000 22,455,000 24,626,000

308 XX HHSO0IA 17,829,000 22,455,000 24,626,000

04 MBEES 17,829,000 22,455,000 24,626,000
OANHBFIEMF 17,829,000

T otAIY =& 820,000 870,000 A 50,000

201 LBt 3| 320,000 370,000 250,000

01 AtS 22l 270,000 270,000 0
O=Fs AR F&(Pool) 270,000

03 A2 S| 50,000 100,000 250,000
O HEotA 2t A2 Z HI (Pool ) 50,000

202 O4H| 300,000 300,000 0

01 =Wl 300,000 300,000 0
O AHAREZE (Pool) 300,000

203 HRF&H| 150,000 150,000 0

03 AEFIHRFAY| 150,000 150,000 0
OF=RUAEE L SHrHR2F A (Pool) 150,000

301 LEtEAZ 50,000 50,000 0
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10 ALAHIE &= 50,000 50,000 0
O& A& HI 2 &3 (Pool ) 50,000
ol gl 33,085,356 33,609,996 A524,640
olgidgl 22 33,085,356 33,609,996 A524,640
Gidldl 22 33,085,356 33,609,996 A524,640
801 0ildlbl 33,085,356 33,609,996 N524,640
01 olglgl 33,085,356 33,609,996 A524,640
Oulgldl 33,085,356
Hests(oaggata) 2,933,928 3,064,324 A 130,396
LHEAHHXI & 2,933,928 3,064,324 A 130,396
Sz tl== ol ket 2,933,928 3,064,324 A 130,396
705 Ol==&cl=as 2,933,928 3,064,324 130,396
02 Oll=== 0l Ahatgt 2,933,928 3,064,324 A 130,396
OsgJlstl== 0l ktatat 2,933,928
HY2SIHI(oagg2y) 130,700 130,700 0
QI =& 45,600 45,600 0
FA2IHRFE| 45,600 45,600 0
203 AR =& 4,200 4,200 0
04 RA2SYRFLH 4,200 4,200 0
Sl IR N 4,200
204 M2 AH 41,400 41,400 0
03 SR E=H| 41,400 41,400 0
Sl IR 41,400
Jl=&Hl 85,100 85,100 0
Jl=&Hl 85,100 85,100 0
201 et 43,700 43,700 0
01 AtR2teld] 43,700 43,700 0
Ol 2 & 43,700
202 O 41,400 41,400 0
01 =AY 41,400 41,400 0
Oular2e| R E=E 41,400




